If you have any questions about the product, Pls contact us.

Component compostion

Bed Frame Parts List

________________

A*2PCS B*2PCS  C*1PCS H*10PCS P*1PCS  M*1PCS L*1PCS

Accessories [ [ I { -
List S*17pcs (M8*16) T*4pcs (m8*32) Y*2pcCs (M3*8) - N*1pcs
4 I
Step1: ®
i
H‘ T
- k /)




ﬁ B*2PCS

S*8pcs(M8*16)

- J
~
C*k‘
[y
T*2pcs (M8*32)
J
\

i

1 Put the light strip into the
plastic slot vertically.

L*1PCS

P

lll Stick the cable clip to the tube
and put the end of light strip

in to the slot.
S J

'\

H*10PCS

jan

Y*2pcs (M3*8)

\

After installation, you can put the Allen Key in the middle

9 Finally, please tighten all screws to prevent noise. foot of the fixed position, easy to use the next time. )



AutoCAD SHX Text
5


	图纸和视图
	模型


